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General Instructions :
(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections —
A, B, C and D.

(iii)  Section A contains 8 questions of 1 mark each, which are multiple
choice type questions, Section B contains 6 questions of 2 marks each,
Section C contains 10 questions of 3 marks each and Section D
contains 10 questions of 4 marks each.

(iv)  Use of calculators is not permitted.
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Section A

JoT eI 1 @ 8 % Y% I3 1 3F T & | Y97 &1 1 & 8§ § J9% ¥97 3 78 a]
3%y 137 718 8, o7 @ 907 v# @8l & | @& fawbey giqu)

Question numbers 1 to 8 carry 1 mark each. For each of these questions four
alternative choices have been provided of which only one is correct. Select the correct

choice.

1. U TH At % JoH o e, U 3y — 1, 3y + 5AA Sy + 18, A y AR R ¢

A) -3 (B) 4

<€ 5 D) 2

The first three terms of an AP respectively are 3y — 1, 3y + 5 and 5y + 1. Then
yequals :

A) -3 B) 4

© 5 D) 2
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2. 3 1 #, QR fou M o i uh 3wafE wt Yan ¥ | 99w fog T W e
Fd 2 | forg T fi=h 7 woef Y@ QR 1 fiig P firereht & 1 3f PT = 3.8 9t 2,
al QR i Fars (T H) ®

Q P R
(n) 38 B) 7.6
© 57 D) 1.9

In Fig. 1, QR is a common tangent to the given circles, touching externally at
the point T. The tangent at T meets QR at P. If PT = 3.8 cm, then the length of
QR (incm) is :

Q P R
(A) 3.8 (B) 7.6
© 57 (D) 1.9

30/1/1 3 [P.T.O.



3. 3T(d 2 §, PQ YT PR g O 9Tl g sl &1 T3l W@ & | I LQPR=46° ¥, I
ZQORFAME :

(A) 67° (B) 134°
(C) 44° (D) 46°

In Fig. 2, PQ and PR are two tangents to a circle with centre O. If ZQPR=46°,
then ZQOR equals :

(A) 67° (B) 134°

(C) 44° (D) 46°

30/1/1 4
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TS GG ol AR o A9 GST i T, I8 fH & A1 60° Tl IV 471 © | IS €l
1 UTaforg R § 2 Hi A g W 2, q Wi hit g (A H) 7

(A) % B) 43
©) 242 (D) 4

A ladder makes an angle of 60° with the ground when placed against a wall. If
the foot of the ladder is 2 m away from the wall, then the length of the ladder

(in meters) is :

(A) % (B) 43
© 22 (D) 4

Ife &t fr-firs ol il U oY 3VT W6, o S 9T WO SHEEAT o 3T
‘SIT&IERIT%:

(A) (B)

(®) (D)

A= W
O\"—‘
A= O~

If two different dice are rolled together, the probability of getting an even

number on both dice, is :

1

(A) 36

(B)

D | =

(®) (D)

A=
N
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6.  HEATSAT 1 9 30 H U AG<AT Tk H&AT AT TS | 39 TEAT o Teh AN T&AT o &IH
CARIDET R

2 1
(A) 3 (B) P
1 11
l D) —
(®) 3 (D) 30

A number is selected at random from the numbers 1 to 30. The probability that

it is a prime number is :

2 1
(A) 3 (B) P
1 11
(©) 3 (D) 30

7. ARG Ax, 2), B(-3, —4) A C(7,-5) G2, AxFAFR :
(A) -063 (B) 63
©) 60 (D) -60

If the points A(x, 2), B(—3, —4) and C(7, — 5) are collinear, then the value of x

is :
(A) -63 (B) 63

© 60 (D) -60

30/1/1 6



8. ST 45 Gl a1 A 4 FHY ATeT €1 % Teh 3 S i TUEa R 6 THi =A™ AT
34 TS ST T | T <l T ©

A 3 (B) 5
< 4 (D) 6

The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm, is :
A) 3 B) 5

<© 4 (D) 6

Qs d

Section B

J97 G&IT 9 G 14 T Ik J97 & 2 3% &/

Question numbers 9 to 14 carry 2 marks each.

9. Teoma aftertor 202 + ax —a® = 0 Sl x %%’Q%ﬁ‘eﬁﬁ?l

Solve the quadratic equation 2x” + ax — a” = 0 for x.

10. T AT Ui o1 ToH U 5 9T AfaH 92 45 2 | Ife 39 2oft o g+ gl <1 I 400
2, 1 3Heh! FraeTdt F1d <hifer |

The first and the last terms of an AP are 5 and 45 respectively. If the sum of all

its terms is 400, find its common difference.

30/1/1 7 [P.T.O.



11.

12.

13.

14.

30/1/1

g e for g i <1 wwTar Tef WEnsti & Tl fogsti o6t fie aren Wemave Ja
o hg © TR ST ¢ |

Prove that the line segment joining the points of contact of two parallel

tangents of a circle, passes through its centre.

g %y O aTet U g1 W foret siter forig P & &1 Taef T@md PQ e PR 36 Wb Wit
STé fo ZQPR = 120° &1, at frg At f6 2PQ = PO ? |

If from an external point P of a circle with centre O, two tangents PQ and PR

are drawn such that ZQPR = 120°, prove that 2PQ = PO.

& Q1 fie-fre feshl o T @1y ISTAdT 2 | FH G KA Teh 9 AW shl ITRIkdT
1 ST |

Rahim tosses two different coins simultaneously. Find the probability of

getting at least one tail.

Mpfd 3 W, Tk 99 ok IgUE OPBQ % 3idiid &1 Tk a7 OABC 2| If
OA =20 Tt 2, |1 SHifehd ST T SAHA J1d HISTC | (= 3.14 )

Q




In Fig. 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If
OA =20 cm, find the area of the shaded region. (Use m = 3.14)

Q
C B
o) A P
«us 9
Section C

JoT GEIT 15 8 24 T 9% G 3 3 31 8/

Question numbers 15 to 24 carry 3 marks each.

15. w‘ﬂwf—ﬁ > ;x¢0,—%,aﬁxéﬂ%«m%aaﬁﬁq|

X 2x+3
Solve the equation i—3 = i;x # O,—é , for x.
X 2x+3 2

16. e U THIGL At &1 Hiaei 9 é %wmﬁﬁqﬂéé,aﬁm 63al ug J1d

HINT |

If the seventh term of an AP is é and its ninth term is %, find its 63" term.

30/1/1 9 [P.T.O.



17.

18.

19.

30/1/1

T T S ABC Eifaw f5ad AB = 6 Tft, BC = 8 I qon /B = 90° ® |
B § AC W @« BD @ifaw au1 fogati B, C 991 D &It ST a1l g4 @itat | foig
A T 39 I WS @t it AT i |

Draw a right triangle ABC in which AB = 6 cm, BC = 8 cm and £ZB = 90°.
Draw BD perpendicular from B on AC and draw a circle passing through the

points B, C and D. Construct tangents from A to this circle.

Ffs f5g A0, 2), feigei B(3, p) 941 C(p, 5) ¥ TUGEY ®, @1 p o UH F1d shIfIT |
AB &l TaITs oft 91a it |

If the point A(O, 2) is equidistant from the points B(3, p) and C(p, 5), find p.
Also find the length of AB.

Tk JhET-TART o HT 3T &1 SeTs Ut H 36 YR ey € T g1 sere qen
TERTIT-EART T & 3@T A B | TohTer-Tar o 3R & 1 STeTsii o AaTHT HIvT 60°
TAT 45° § | IS FeRT-Taee Al S=mg 200 W 8 A1 ST SRS ok o= I gl 91
AN | [3 = 1.73 ST

Two ships are there in the sea on either side of a light house in such a way that
the ships and the light house are in the same straight line. The angles of
depression of two ships as observed from the top of the light house are 60° and
45°. If the height of the light house is 200 m, find the distance between the two
ships. [Use /3 = 1.73]

10



20. 3Iffog A(=2, 1), B(a, b) @ C(4,—1) REN 2 qMa— b =18 A a T b o IH
ST TS |

If the points A(-2, 1), B(a, b) and C(4,—1) are collinear and a — b = 1, find the

values of a and b.

21.  ATHIA 4 H, 12 HH ST ATl T GHATE BYS ABC & SI@d T ga @i T @
&t g O B | ord:ga A Brsen @ ST qon SMifRa 9 1 &Fhd F1d
FINT | [ 7= 3.14 T 3= 1.73 fifST |

In Fig 4, a circle is inscribed in an equilateral triangle ABC of side 12 cm. Find

the radius of inscribed circle and the area of the shaded region. [Use m = 3.14

and 3= 1.73]

30/1/1 11 [P.T.O.



22,

23.

30/1/1

ATHfT 5 H, PSR, RTQ @1 PAQ o s1efaqm S
8, % = wHe: 10 o, 3 9 den
7 4t 2 | Sfehd 9T ST IIHTT J1d i |

[ = 3.14 &)

S
In Fig.5, PSR, RTQ and PAQ are three
semicircles of diameters 10 cm, 3 cm and

7 cm respectively. Find the perimeter of the P 7cm Q\W R
shaded region. [Use m = 3.14] .

Teh forl™ 3799 Wd | 10 Y =91® ATl 3R 2 ) = Uk dAHThR dohl ohl ITdih
TG 20 IH 9T Tk U129 10 A § Siear ? | Ife grgw § i 4 fedt uf wer i
I T T =, a1 foha 9w | 2ol [ ) STt ?

A farmer connects a pipe of internal diameter 20 cm from a canal into a
cylindrical tank which is 10 m in diameter and 2 m deep. If the water flows
through the pipe at the rate of 4 km per hour, in how much time will the tank be

filled completely ?

12



24.

20 THt S8 3R 60° IMNRIUT ATt T 314 91q o AT Ip ol IThI HTg o
- & It STd Tk a1 91 H hiel T & Selfeh acl % oh TR h

A ¢ | A ITH 31 ok Feyieh ol é Tt ST el T AR o &9 H @iel S g,
ql AR I TS J1 1T |
A solid metallic right circular cone 20 cm high and whose vertical angle is 60°,

is cut into two parts at the middle of its height by a plane parallel to its base. If

) ) . ) 1 )
the frustum so obtained be drawn into a wire of diameter E cm, find the

length of the wire.
@ ug §

Section D

J97 G&T 25 G 34 T I Jo7 3 4 3FH & |

Question numbers 25 to 34 carry 4 marks each.

25.

26.

30/1/1

améwaﬁwﬁms%ammwﬁwﬁm%%lé@ﬁwﬁml

The difference of two natural numbers is 5 and the difference of their

reciprocals is % . Find the numbers.

forg Fifor fon foret smer foig @ 9 W wi=h 7€ woef Tt it demgat swer 2t 2 |

Prove that the length of the tangents drawn from an external point to a circle

are equal.

13 [P.T.O.



27.

28.

29.

30/1/1

Tk 60 H S fafeen o e 9 v #9r & fIrgw qen ure & 3994 991 37aa9e
I AT 30° 91 60° B | fafeen qen fiar i S=meai 1 37aw qen 39 o=
it 91 i |

The angles of elevation and depression of the top and the bottom of a tower
from the top of a building, 60 m high, are 30° and 60° respectively. Find the
difference between the heights of the building and the tower and the distance

between them.

Teh o H 1S 8, 9 W 1 & 49 I it TAd 3iferd 8 | 37 wie] ol =3 TR
TorerTeRt, 378 | I Uk H1E HehTat T | TRiehdn Ta shifore fob fehret e w1
R 3fohd T

() U oo e ® (i) SHIST
(i) e Ul vt wEAT ® (iv) Toh 99 19T G&I1 @
A bag contains cards numbered from 1 to 49. A card is drawn from the bag at

random, after mixing the cards thoroughly. Find the probability that the number

on the drawn card is :
1) an odd number (1))  amultiple of 5

(ili)  a perfect square (iv)  an even prime number

g P(x, 2), ToIgati A(12, 5) @1 B(4,— 3) i THa aret Tarave i form o1guma o
ST ® | x 1 A o 31d hifsre |

Find the ratio in which the point P(x, 2) divides the line segment joining the

points A(12, 5) and B(4,— 3). Also find the value of x.

14



30.

31.

32,

33.

30/1/1

k % € | T hifete feh fore feema aefiemor (k + 4% + (k+ 1) x+1 = 0 & g
T € | 98 A off Jrd it |

Find the values of k for which the quadratic equation (k + Hx* + (k+ 1) x+1=0

has equal roots. Also find these roots.

50 Yai <hl Teh GHTAL UMl ok A 10 YGT kT AN 210 T 39 15 Uai &1 I
2565 2 | Fft 31 IS |

In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its last 15

terms is 2565. Find the A.P.

forg hifsTe fo 3 o aford s we TR wgedst aregys T 2 |

Prove that a parallelogram circumscribing a circle is a rhombus.

R o I 1 Y Gl 3¢ TF oh TR 1 Th o & TSIehl Harg 11 Tuf qen
S0 X ot s 2.5 Ot B | 9 o U @ U AU g | 39 A | 0.5 |l
T8 I &g hl MATHR T STefl 7T - s o 9T % T SITEX 371 74T |
F1d AT ok 38 a1 & forat Miferat ereft 7€ | gena 3 v ey fohan 6 s &
Trenatt art wftem et i ST Rt HiE Hok | GEITA 3 39 HE 9 R qoF i veeH
Tera ?

Sushant has a vessel, of the form of an inverted cone, open at the top, of height
11 cm and radius of top as 2.5 cm and is full of water. Metallic spherical balls

each of diameter 0.5 cm are put in the vessel due to which %th of the water in

15 [P.T.O.



34.

30/1/1

the vessel flows out. Find how many balls were put in the vessel. Sushant made
the arrangement so that the water that flows out irrigates the flower beds. What

value has been shown by Sushant ?

TS 2.8 THY 3T =AY 4.2 Tt A1t Ueh 31 Sl § H 3T Sl 31 361 =0 o
T IEETRR @i HIE foran Srar 21 I s 3 1 qEiT SF%hd Jid I |

[n:%&ili\am

From a solid cylinder of height 2.8 cm and diameter 4.2 cm, a conical cavity of
the same height and same diameter is hollowed out. Find the total surface area

of the remaining solid. [Take = =%]

16



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16

